R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, TX-4224

& Endura

PR ODWUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details (Ultimate Flip Lever)
3 Astragal details (Ultimate Multi-point)
4 Astragal details (Ultimate Huricane)
5 Door panel details (lip lite insert glazing)
6 Horizontal cross sections
7 Vertical cross sections
8 Frame anchoring

XX

73.94" MAX. FRAME WIDTH

81.69" MAX. O.A. FRAME
HEIGHT (INSWING)

80.88" MAX. O.A.
FRAME HEIGHT (OUTSWING)

INSWING

+40.0

-40.0

AN -
TATE <8,

o>
Y3

1
ATE ol
Yo /

f-:;\‘
17

-t
P
e

LN
o
53 @ o
[ n wun
£ o2} Ll 0
n Z -
8 : M o
w Om (.'Jl
e E N fu
- 'd?’— 4_(1*
S 02 22
2 2@ 00
< T =
> Jdgo 0E
)]
a>m t‘ﬂé
o
Z0m g0
> gn xo
@ ON= ow
2 (4
Rl ©35Z
0 Za Ol
= 9 g o
a =g0o 29
[ >2Qc xp
a Do 8<
@O
2] [
e
: S 5
G §m
E R B8
0
o
o

[9p]
=
Sle)
nz
g
&
gy
<
o =l
D <O
o =
Z Ly
Ly LLIU.)
g
<X
= o2
O an
S n
=) gy
e o<
x o
o

LFS
BY

+40.0

-40.0

+40.0

-40.0

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE [ LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

1

2

NO., DATE

OUTSWING

+40.0

-40.0

+40.0

-40.0

+40.0

-40.0

DATE: 8,/20/12

scAle:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

SHEET 1 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINENOJ aNIaging "My 2 Loz @

2S8LL—4 # NOLVAISIORN 40 ILVOLILNIO SNOISIAIY
SY3ANIONI TVNOISS340¥d 40 Q¥vOd SvXal Qmw@w&b&.ﬁ,\wﬁg%av Ad 31vd [ON|« 8_
L616:658°c18 “ON euoUd S TIIS SNLVINOU¥Y 0300V vi/60/1 | L ||| X[ & |
G6SES 14 OSMIDA OSZ Xog ‘O'd \ﬁ\w@ "ATEWISSY 0 1uvd | 547 | 38NLdVO NId TVOVHLISY MIN dav[GL/so/s]| 2 Q M ., §|°
"ONI ‘SINVLIINSNOO ONIaling N 2 | 2_
se] 33| X
o ~
SZILYOLF I'd Svxal V4NaNd MEIMME &
‘I'd IPlWYDS °4 uopuik :Ag peJdpdedd sjuswinooq :10NQ0¥d W. m W 5 m 5
WOLLOg .
2
* N
8 N .
_mm o -._.|+I
1 g5l
. R S O 45 _ W8L°1 _
S-S -
in
'y & o =
: : 8 3 « 5
£ v &
= 4 d
B N o~ - O)
Vo) @ ™ O
. 5 | 2 T - 5
S e = <
o =
<
®)
®]
= |
e =
N e .
N m:kw_ «S9°C
v
oz
o
==
O
p
<
]
|
in
™~
i ; "
| D Q
H ]

dOl

(2)#8 X 1-1/2" PFH WOOD SCREWS
(2)#6-32 X 5/8" MACHINE SCREWS

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

[7¢]
= (24
=a 9 b
pNe) m
=< W Zz
[oe) o o
H* Q S
=r 2 % NN\
w3 . X 7 <
[ %
) )
S et O\ 5
> oz
% $ &
3=
- A g <
A = £ &
& A,DII = 2 |V A— m L
J." -\ &/ A} > 1, ] .AH|AU V
Y 7 ] » E
(0]
5 o
E .
2 g 2w
E @ 5 =
= E s <
: £ | M
e £ —
g 2 =
) oD
: N )
o0
w 2 e e e e T e e ) | W
o) NI\ S Y o . W—" T W v e Y\ S

N

Z-1 'BmpLZ-vzzy-X L\ueund\sbuimela\0gg - IA.1\sul Jo 1daq sexa I\ININVINYId eInpu3\sIusD\Y



‘ON| SLNVLINSNOD 9Niaing "M*'y 2102 ©

ZS8LL—d # NOLWVMISIOZN 40 FLVOLALLNID - SNOISIASY
SY3ANIONT TVNOISSA0dd 4O Quvo8 SvxaL Qz\mo_ﬁ\&m:#%%%ﬁsm@qa Ad 31V4d |ON| 8_
—| Al |N <
LELE6SaCLE PON sudYd . S41 TIIS_ONUVINOLLYY _030av| ¥1/60/1 | L || |50 | & |,
S6SEE 714 COLIPA 0T Xo8 '0'd \Sv@ "XIBN3SSY_¥0_Lavd | 537 Janidvo Nid TvovdlSY MIN _aav| c1/s0/s | 2 || = LN 8
*ONI ‘SINVLINSNOO ONIQIINg o = g | 3_
N AR
€ZIYOL# 'I'd Svxal vynans - il el x|E o
‘3'd JPIWYDSS *4 UOPUAT :Ag peipdeid sjuewnooq 119N00Yd .ml SIE|35 W =
ﬁ.m,
...oonw
YR N
s :m «
¥ &
Lo, \ <G & o <
. " "~ C
QLY AN J\ o
L § P
Qaacees™ in re
m N O
i 3 T
° — -
. 2 -
s ﬁ % m _u 1 . |
Fu. = M m B :wN _.
3 wau < c
i
. 4 5
2 « 2
uﬁU <t S —
B ~§ * O
- (®)
° 9 ..2 @ O
5 | 2 = 3 5
g | © T S <
_N o
QO
Q
in
N M Ml — 1
ﬁ oz W
Q ool WS9C
[a'4
(@]
I
C -
p=i
<
i |
in
~N
W in
N
.m m .m‘
. ..m\
g |
g [ @
e o Q n =
n = B S & &
. 5 2
S (0] (NN ]
dol s ¢ 2 2
| b (o) L
5 Q
S 5 Q <
9] 7] = =
2 N T =
Q [e) [ o]
< B . )
< s
5 2 3 <
S FE ok &
o}
2 N -
S & 3 x
5 L S
Q  x
2 o '
£ 2 AN
oz = N
. O i =
D B
- B /> A\
8 ¢ A
< 4 =
[¢ o] W w m hy A\ lm.ll, 7 X —
£ QB S\, )} <
Sa = O X % G
= i \ \ 4
/ © 0O <C
5 Q oz
< O = —
N = 8 £ %)
2 E & 5 <
—— - C
S & Ko - =
> n_K < =
£ 5 & O
< += > o
£ _ 3 I
E 3 3 3 =
= m [ > ml.v M
= £ 9 3 g 1w
g . 23 : <
Ko 3] <0 2 >
(72} - — Nl 7] c
= g O S —
(o} - = 2 —
@ 0] 5 <
= o =
S ° AR
o
= AN '
\!TI'.W‘N.MII.- W aEm e weee—— el S

€-T 'BMp'LZ-bzzp-X L\uaund\sBuimelq\0g9 - 1a1\sul o 3daq@ sexa [\LNINVINYId eInpuz\siuald\y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 1-4

35"

8ll

PUNCH OUT —\

2.75" —=— ——] —— 2.50"
3.75" = | 1
o ~———— 10.75" —— 10.50" 3.63
S| 18.75" —=| 050" —
= 26 7.5" I — ]8.50" -
' ~——o 26.50"
ANCHOR SCREW LOCATIONS
:::i_. | O gz gL O | i =
< L 5.5 ! 35.5" —
<
6'-8" ALUMINUM ASTRAGAL ASSEMBLY
By Endura
BOLT RETAINERS
SLIDE BOLT ROD '

VIEW A-A
Aluminum Astragal Assembly

2.65"

J
J 175" f=—

ULTIMATE HURRICANE ASTRAGAL

19.63" A, ‘

¢ |

——l |<— 0.32"

SLIDE BOLT ROD
MATL: Steel

#8 X 3/4" PFH WS

et 143
Qg

—>’ ~— 0.50"

BOLT RETAINER
MATL: 9-3/4" Aluminum

#8 X 3"PFH WS

DEADBOLT STRIKE
PLATE

LATCH STRIKE
PLATE

LATCH & DEADBOLT DETAIL

BOTTOM

38.5"

SEE DETAIL

ASTRAGAL

ui
2]
¥ 0
"
Yo - ﬁ
Eqx @ L
S oz
(] Om Y]
o Z z
N i
L )
c k- <
o 0 3
° oo §
> H:é @
2 o9
= - ) 0
(7 I [-;_1
ZO0om o
3 g8, &
@ oa= o
o %57- ™
o Zmge O
8 255
13 50¢ E
e Doa g
: X °
8]
[=4
o e;
E g
3
0
¢}
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

LFS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NO., DATE

1

N

REVISIONS

DATE: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

SHEET 4 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 1-5

79" MAX. DOOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

1.75"
= ]ll 3" | — 'Ill — ]
INTERIOR TOP RAL
: powoon e
o - | — — -
= - I _————— |
D I SE0Z00,
EXTERIOR \
LATCH STILE 12 LONG HINE\I; LS)TILE
(LVL) LOCK BLOCK
(WOOD)
1\ HORIZONTAL CROSS SECTION . /
5/ (0.02" MIN.)
35.75" MAX.
PANEL WIDTH
1
21.0" MAX INTERIOR EXTERIOR
D.L.O. WIDTH — \ =SS
553 #6 X 1-1/2" PH SMS
GLASS BITE 7/16"
INTERIOR
—1/2" NOMINAL GLASS THK.
R / 1/8" TEMPERED GLASS
- 7 t\,’;AIR SPACE
o <2 1 A
¥ 2T IHI 5 K 1/8" TEMPERED GLASS
g 39
Z °B3 STEEL SPACER
- FOAM CORE
EXTERIOR Q'SO SEALANT (POLYSTYRENE)
LOW TACK SEALANT A
@
1 )-GLAZING DETAIL BOTTOM RAIL T
Lip Lite Insert Glazing (STEEL)
D
JELD-WEN
Insert Glazed
(steel) /“2"\ VERTICAL CROSS SECTION

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

FS
BY

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NOJ| DATE

—

2

DATE: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

\5/

CHK. BY: LFS

DRAWING NO.:
TX—-4224

SHEET 5 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



ui
g
< n
."23 14
ES a W
7 £* B Z
wu O ©
¢ 20 3
e J Y
e L
52 Loa 2
2 <L o
CF EFT0N =
/ / > Jg©0 0
: 25m 0
v i tn qednones™ 2om 5
A . ]
X 4 11\,’\.;.. g 82': A
P2 / m o o
O Xz [
° z8 . 6
§ g§°%¢
a 250 O
[ 50¢ %
e oo g
2 : X,
c
o
X W X E X
3
[3)
<}
o

CERTIFICATE OF REGISTRATION # F—11852

643
/

/ \\ ™~ DEADBOLT: KWIKSET SIGNATURE SERIES
y // y // | (980/985) .
/ / [T LATCH: KWIKSET SIGNATURE SERIES 23
=k
(991) |, =28
-~ e %)
2 |3 2g
> N 7
| CORNER PADS (TYP) 5 &
1/4" MAX. 015" 5 z
L] D
EXT SHEATHINGSHIM A = C-SINK 2 3N 4N 5\ = i
| " TN/ &
i
2X FRAMING e e — #10 X 2.5" PFH WOOD SCREW 5
(G>=0.42) &
6 |
z =
|, JAMB A
S —— ULTIMATE HURRICANE ASTRAGAL gl 2
(QEBD/PE 650) 3 2
ENDURA WEATHERSTRIP DOOR PANEL R
INTERIOR (QEBD/PE 650) 2 E) &
E <
L
AR _ S
P el S SRR NS E Y R e 0|
/S EXTERIOR Kl
DRYWALL g QISIS
" 0|~
#8 X 2.5" PFH WOOD SCREW YRR T P MG #8X 3" PFH WS N[
#8 X 3/4" PFH SMS 4"HINGE ! =
_ #8 X 1"PFH WS oaTE: 8,/20,/12
SCALE:  N.T.S.
DWG. BY: JK
/"1 "\ HORIZONTAL CROSS SECTION /2\ HORIZONTAL CROSS SECTION oik B LFS
\\é/ Inswing shown - Outswing also approved DRAWING NO.:
TX—4224

SHEET 6 oF 8

R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 1-6

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 1-7

oy —] 2X FRAMING
{ (G >=0.42)
LTS

EXT. SHEATHING -\ ‘ £ /—DRYWALL

41AL

“ L #10x 25 PFH

1/4" MAX. i

SHIMSPACE ~— ~__[flLl

0.15"
C'SINK
(TYP.)

-

DOOR PANEL \
\\ HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR b INTERIOR

m VERTICAL CROSS SECTION
\_ 7 / Outswing shown - inswing

also approved

INTERIOR

DOOR PANEL EXTERIOR EXTERIOR
ENDURA WEATHERSTRIP x

ENDURA THRESHOLD

(Z-SERIES INSWING ADJUSTABLE)
ZAI4565FN (shown) \

(QEBD/PE 650) DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \
(Z-SERIES OUTSWING) (DBK-R)
ZOB4565FN (shown) \
\ :

EXTERIOR INTERIOR

ENDURA THRESHOLD

41 / WOOD SCREW  (Z-SERIES INSWING ARTICULATING

SILL w/ PIN CAPTURE)
#ZACL4565 (shown)

y/4
DOOR PANEL Y\
ENDURA DOOR SWEEP \\

(DBK-ZAC)

d 70

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

7“5\ VERTICAL CROSS SECTION

\U Inswing configuration

//

INTERIOR EXTERIOR

DOOR PANEL
ENDURA DOOR SWEEP —\
(DBK-AC)

ENDURA THRESHOLD
(Z-SERIES INSWING ARTICULATING)
ZACA4565FN (shown)

/L INTERIOR

AT

2

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/~2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4" ELCO OR

[T

=

ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Outswing shown w Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

w Inswing configuration

PRODUCT:

u
R
i 0
el
e w 59
B [0)] uww
£ n Z
o . 2 M o -
nu O (0]
Pz z !
h:ﬂ. —d'(; s
c ;[_). - J%
5 0® I
S Z9%9s 2
cF Stmn 92
>3 Hto oE
) o™
a>o ﬁé
Z0m 05
% on r O
@ O N - o
] 4
O xZ
o o T8
Z
o émo 016
8 256 o
) 5Qc i
& moo 35
5 E
£ 3]
3
(4]
o
[a)
wn
=
&)
=
(@}
L)
n
<<
o A
= S
= &
5 S
Ly
<
S
&
(]
>

LFS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NOJ| DATE

—

2

REVISIONS

DATE: 8,/20/12

scAL:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

sHEer /7 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 1-8

2X framing (by others)

z, O 4
2O X N
=06 & \ ¢ Astragal Strike Plate {,
S 2 (T}O‘P_) ‘*’ & T (TYP.) @ Head Jamb
| ™ ey !
I T l 1 K | = R P
SEE HINGE . T - '\\
DEALT N T | oEALT a X
5 & #10 X 2.5" PFH WS
o L —
II DETAIL 1
5 |
— 1 3 #8 X 2-1/2" PFH WS
T | o [| @ %
" (. -
SEE HINGE | #8 X 1" PFH wsé:. i 48X 3/4" PFH WS
DE[A“. 2 IR | | L 4|| X 4!! HINGE
\
2(< g W
* | DETAIL 2, 3 OR 4 f S HINGE DETAIL 1
i \ 4 2
I L M1 I
% i | = #8 X 2-1/2" PFH WS
4" (TYP.) —— o Ll @
(4.. (T)YP.) - #10 X 2.5" PFH WOOD SCREW PO 4:- !
~— 2'(TYP.) 1/4" X 2-3/4" ELCO OR oyl = #8 X 3/4" PFH WS
HINGE JAMB ¢ ITW CONCRETE SCREW ~— 4" X 4" HINGE
(TYP @ SILL) \
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING W
CONCRETE (MIN. 3000 PSI) XX
WOOD (G >=0.42) HINGE DETAIL 2
*NOTE: This anchor required for D.P. > 40 PSF.
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo ITW CONCRETE SCREW
maintain the min. edge distance to mortar joints, additional concrete anchors ) 1/2" DIA. HOLE (IN CAP)
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE
3. Concrete anchor table: \ = e < —
P 2o} = ASTRAGAL PIN
S { x B = = = CAPTURE
COMPONENT
'Tw "w " ALl "
TAPCON® | /4 1-3/4 2-1/2 8 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4
ELCO . . " Y Outswing Inswing Inswing Inswing
uLtRACOoN®| 1/ 1-3/ 1 8

uj
R
-
+ <t ()
]
o T
= o @
< n Z —
(2- : ) -
w 9m 9
v Z N Gu
- 'E!?—’ e
(] EOOZ %z
o Zo00 §§
€ ETwow 2
2 dge ok
a>mn QE
- o
Z0m o
3 an Z o
@ ON = g
o (74
o 2382 u
e §%¢ 96
o c
a 2g06 2
o 59c¢ %}'_-'
& oo SE
-
5 Qi
E EH
3
o
o
(G}
=
S
& T
S O
) =
= <
W L
3
oz
i L
O
)
)
o
x
a

LFS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS| PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NO,| DATE

2
1

REVISIONS

oATE: 8,/20/12

SCALE: ~ N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

SHEer 8 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



